IYIT—)LTITIS5TL

o R%:  ABIFAR

BfEERR: 23498108 (B)
#HA3—X: OUT IN

IBRLRE i : v IE

aAVURA:

A BIFFARE

BfEERR:

23%9R10R8 (B)

fEA3—X: oUT IN

IBGLRE S B

H%%%j:j_%; ;El;o/ zﬁé:so SZ7:30 BRI ;;};JJ%%_F ?]urék = 50 A Hi%%ﬁé %El;o/ z&:so L=7:30 BRI ;;};JJZJE!_F ;%mlé)\ 5 A
221 L AN
B 50 A B 50 A
[1:304 BmMER OUT | I N GROSS| HDCP | NET e -4 BmMER OUT | I N GROSS| HDCP | NET L
B ax ' 40 39 79 11.0 68.0 26 /DI ER 44 44 88 120 76.0
2 T BAfs 38 41 79 11.0 68.0 27 &8 FA 49 51 100 240 76.0
3 MEXE 43 39 82 120 700 28 AP iR—EBB 39 44 83 70 76.0
4 EW E@E 37 38 75 50 700 29 BX #E 42 48 90 140 76.0
5 I EX 41 35 76 50 71.0 30 ZfE 46 44 90 13.0 770
6 B & 47 44 91 200 710 31 #H E—8 46 45 91 140 77.0
7 E&# R® 33 39 72 10 710 32 IRAEK Hih 49 50 99 220 710
8 =& FE 48 44 92 200 720 33 HEAZE 51 52 103 250 78.0
9 HHE 43 43 86 140 720 34 H#E —3h 53 52 105 260 79.0
10 B ER 38 40 78 60 720 35 B KH 53 46 99 19.0 80.0
11 &XK#€ 47 46 93 200 730 36 #M EIE 58 52 110 300 80.0
12 183 Wi 46 45 91 180 730 37 XK A 53 48 101 21.0 800
13 K HE 41 4 82 90 730 38 MM s 51 46 97 17.0 80.0
14 EZE ME 39 40 79 60 730 39 ™ FM 39 45 84 40 80.0
15 K2 KA 39 44 83 100 73.0 40 HH #E 57 54 111 30.0 810
16 R BHE 39 38 77 30 740 41 R\ EE 49 47 96 150 81.0
17 R #= 45 45 90 16.0 74.0 42 it F— 46 52 98 17.0 81.0
18 Il EH 50 54 104 300 74.0 43 &HH HR=#F 52 45 97 150 82.0
19 By E 39 43 82 80 740 44 {£)I EHE 51 48 99 17.0 82.0
20 X B 44 50 94 200 74.0 45 A% BE 48 48 96 13.0 83.0
21 K #iE 39 47 86 12.0 740 46 Tk FH 46 47 93 10.0 83.0
22 #ifF 1% 47 38 85 100 75.0 47 LA FF 51 56 107 240 83.0
23 FXH T 42 38 80 50 750 48 HH B¥ 49 54 103 17.0 86.0
24 RE 1A 50 42 92 160 76.0 49 ¥}E £=* 54 54 108 200 88.0
25 A st 50 48 98 220 76.0 50 IR EfE 64 72 136 30.0 106.0

1/4R=




IYIT—)LTITIS5TL

aUNRE: A HIFALE a4 B BlRALHE

BfEERR: 23498108 (B) BEERR: 23£%£9A 108 (B)

#HA3—X: OUT IN IBGLRE A E: RyME #HEA3—X: OUT IN NBGLREAE: ~VMIE

BmEAE: BEN\VUTA BEINERL: 1:vyFVI -1 SN BEEA R BENYTS BRIERL: 1:vyFuo -1 SA

HDCPL[R: EBf4%:30 &f4£:30 =7:30 2445 HAH B % 50 A HDCPL[R: SB4{£:30 &1£:30 =7:30 245 RAH B % 50 A
5 0 A T 4 0 A
Pty 4 0 A Pty 4] 0 A
£t - 50 A £t - 50 A

NE4E 2mES OUT | I N GROSS| HDCP | NET wE JE{:E 2mES OUT | 1 GROSS| HDCP | NET e

OP #H =XA} 33 | 32 65 0.0 65.0

OP XI¥ B4&E 51 48 99 0.0 99.0

NR #H H3h

2/4R—2



IYIT—)LTITIS5TL

AURA: Api+FBiHE aAURA: A #i+rBH

e ouro & IERES: FhE B our R IR Fo g

Hﬁﬁféigﬁﬁgiﬁﬂo>:7ﬁo Eﬁﬁ&:;g;gg+* i%ﬁﬁ 29 A Hﬁﬁféiﬁﬁﬁ§;&ﬂ09:7ﬁo @ﬁmﬁ;;g;gg+' §W$ 29 A
21 50
B 20 A B 29 A

[1:304 BmMER OUT | I N GROSS| HDCP | NET e -804 BmMER OUT | I N GROSS| HDCP | NET L

& RE = 40 40 80 120 680 26 Fhith TEX 52 42 94 80 86.0

2 mEgR 37 37 74 50 69.0 27 EAE @ 57 51 108 19.0 89.0

3 BER FEME 43 45 88 16.0 720 28 T &t 59 62 121 300 910

4 Rk E= 42 47 89 170 720 29 Il BRI 77 51 128 25.0 103.0

5 BN R 44 42 86 13.0 730

6 £k 40 43 83 100 730

7 %k EX 44 42 86 11.0 75.0

8 = BEih 43 43 86 11.0 75.0

9 IRAX X 39 43 82 70 750

10 B f& 42 46 88 130 75.0

11 il & 45 39 84 80 76.0

12 #EE RZ 43 42 85 9.0 76.0

13 #kH +& 46 45 91 150 76.0

14 AEF 1EXX 46 47 93 17.0 76.0

15 HFAXK R— 46 42 88 11.0 770

16 #ktt = 43 46 89 120 770

17 /& B 41 46 87 100 77.0

18 EEB &K 53 48 101 21.0 80.0

19 R EE 47 45 92 120 80.0

20 UZA& —Ep 57 51 108 27.0 81.0

21 EE EL 48 54 102 21.0 81.0

22 Efa = 53 46 99 170 820

23 AHF EX 51 49 100 17.0 83.0

24 T =18 60 54 114 300 84.0

25 #ARE 3CE 50 52 102 17.0 85.0

3/4R—2




IYIT—)LTITIS5TL

av~%:  ABIFRCH av~%:  AHIFFCH

B our & IEHRTE A%+ B our & IR A% FoRIE

H%ﬁg§£|%§ ;El;g;&w =7 :30 BRIRE ;;E}ZEJJ%%_F im']rékﬁ 26 A Hiﬁgi’zﬁé %E{;g;&ﬂo ©=7:30 IRt ;Zlijzl':jg]jl]ﬂ_I~ %gbﬂ“i)\ﬁ 26 A

SR N S
B 36 A B 36 A

NE £ BmER OUT| I N GROSS| HDCP | NET i -4 BmEA OUT| I N GROSS| HDCP | NET "%
& A BT 37 40 77 80 69.0 26 k3 RHER 50 48 98 180 80.0

2 EH FH 44 41 85 140 71.0 27 H# shz 49 48 97 17.0 80.0

3 &H B 47 50 97 250 720 28 kR 28R 45 47 92 120 80.0

4 RIIER 50 46 96 230 730 29 KR BX 44 50 94 140 80.0

5 4Fk fIsE 52 48 100 270 73.0 30 FH_E #EA 50 47 97 140 83.0

6 /hith ¥ 42 39 81 80 730 31 & Bt 46 41 87 30 840

7 mjn ZY+F 38 42 80 70 730 32 1@k EZ 43 43 86 1.0 85.0

8 & A= 38 43 81 80 730 33 M EX 44 48 92 6.0 86.0

9 kBT 55 44 99 250 740 34 &R IERE 54 53 107 19.0 88.0

10 &k —5 40 39 79 50 740 35 XKAR BE 58 &3 111  23.0 88.0

11 f & 44 45 89 150 740 36 FK SHLF 955 &3 108 18.0 90.0

12 B IE 42 38 80 50 750

13 ik BAsA 41 40 81 60 750

14 T =i 40 40 80 50 750

15 {hHE Ei& 38 40 78 3.0 750

16 XK ETK 43 45 88 13.0 1750

17 HR BE 44 M 86 90 76.0

18 EK AFX 41 47 88 120 176.0

19 i T 50 46 96 190 770

20 fiK —& 46 40 86 90 770

21 1R =8 57 51 108 300 78.0

22 ZH M 51 45 96 180 78.0

23 #FHith EfF 44 42 86 80 780

24 B EF 46 50 96 180 78.0

25 |RA =% 58 48 106 26.0 80.0

4/4R=




